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Question 43 Generic Parent » Stuwlwl huwng 1 pt

3wng 43: Hox qtutpny Ynnwynpynn wpninbhulbpp nLubu punhwuncp U6 Uninhy' 60 wdhUwipenL
npywpniejwUp, nnp Ynegdnid £ hndGnnnutu: Drosophila melanogaster ujunnnwiwush gEundnid nip
Hox qtutn fudpwynpdwd BU hpwp htun® ungyu ppndnundh ypw (LYwin 1A): dwush uwndh nhdwg-
hGwnl wnwlgph Gpywjupny Hox qtutinh Epuwntuhw)h ubqutUwnwihu ywuwnytpp hwdwaghd £
ppndnundh Yypw gutph hwgnpnuywunigjwup (LHwn 1B): Munnwdwusp Uunpdwnwd ntuh uwnuh
Gpypnpn Ynpdpwhu ubgubuwnnhg (T2) adlwynpynn gnuyg pLEp W hwywuwpwy2nnipjwu opguwultn
(pgquili), npnup dlcwdnnyned BU Yndpwihl Gppnpn ubgutuwnhg (T3): Gpp Ubx gbuh EpuwynGuhwu
UnLinwghwubph ywwndwnny wuhGuwuncd E, T3-p dlwthnfuynud £ T2-h, b wnwpwunwd GU Gpynt
qnug plbn: Rqbqubpu nL UnpGhulbpp nLuBl pllGph Gpyne gnyg, sbwjwd np Upwlg uwnuned UBX
uwhwnwynrgh Epuwyntbupwih wdtuwnhdwgh hwwnywdp gunuyb E T3-nLd, huswtu W wyuinnwbdwush
Jwyph alnd (LYwin 1C):

B N W TT/ T A 10
lab pb Dfd Scr Antp’ Ubx abdAAbdB C wnusuts  paby Unnbty

VA

Llhwn 1. (A) N Hox gGubpp wunnwdwush gtundned. lab, pb, Dfd, Scr, Antp, Ubx, abd-A, W Abd-B:
(B) Minnwiswush uwnund Hox gtubph Epuwntuhwh wwwnybpp puin ubgutunutph: Yhdwg®
wuwntphnp nLnnnepnLUp dwhu Ynndnid E: 3npwpwlynip geuh EpuwnGuhwih wywwytpp boduws £
whwwyutpny, npnup hwdwwwwwufuwlned Gu (A)-hu: LEpplned gnigunpyuwéd yudwnpubnp
wpunwhwjnnud GU jncpupwlynen guh Epuwyptuhwih inhpnypep: (C)-U gnuyg £ wtnwhu Gpkp inGuwyh
uwnudtpnud UBX uwhwmwynigh Epuyynbuhwu: “hdwg nunnneyncup yepledned E: Ywnpdhp upwpubpp
gnug BU tnwihu T2-h W T3-h uwhdwup: QGUh Epuwpbuhwiny odinywd hwndwdubpp dgugyws Bu:

v A) Hox gtutipny Ynnwynpynn uwyhwnwynigutinp gnpsncd Bu npwtiu gEutph Epuwptuhwu
Ywpgwdnpnn npwluyphwghwih $wynnputin:

v’ B) Hox gbutiph Epuwyptuhwih utgutuunwhb wwwnytpny niwppbnpwynid £ jncpwpwiginn
ubguGuwnh hupuntpintup wunnwbdwush uwndned :

C) Ubx qtuh dnLitnwuwnubpned abd-A-h Epuwptuhwih tnwnwdnudp nbwh nhdwgh 2npw
pGnpnLd E Ynpdpwihu ubgutunh Jepwithnfudwl:

v' D) Pgbqutinp W Unpthulbpp nlubl pltph Bpyne gnya, pwlh np Upwlg Ubx qtutpp T3-
nd Ywnwypned GU wy gBuGn, h tnwppBpnLeinll yunnwibdwubdknh:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers
Date Added: Tue 23rd Feb 2021

Last Modified: Tue 23rd Feb 2021

QID#: 26,511,727

https://www.classmarker.com/a//tests/test/?test_id=1674496 41/48



3/1/2021 ClassMarker - Manage Test
Question 44 Generic Parent » Stuwlwl hung 1 pt

3wng 44: Gnwubn thpwénLy Gasterosteus aculeatus-p (wjunptUu tnwpwdywd £ nne whuwphny
huswGu 6nwjhu, wjuwtu £ pwngpwhwd gnGpnud: Unwwwnhy dwnwaquw)pnidp pbnpt E ényh W
pwngnwhwd gpGpnud wwnpnn ynwncywghwubph Unpdninghwywl wnwpptpneenlultph: Wuwhuh
wnwnpbpniejnllltphg GU ophuwy, pninp dndwjhu wynwnhpwghwubpnud Ynuph Ydwhuphg
wnwowgwd Ynupwihu thotpp, uhugntn pwngnwhwd gpGpnud wwnpnn wynwnwywghwubph uh dwup
Unpgnt E wt (Lywp 1): QGUGnhY hGnwgnuniejnlulubpp gnyg Gu gty np wju tnwppGpnuejwl
qGundhy ywwndwnp nGnwywyJwd £ Pitx1 gGuh 2npwlwypned: Pitx7-p Ywnplnp nGp £ fuwnned
thnpwyhu thoh, phuniup W Ynnwadh quipgugdwl gnpdned: Quuywd Pitx1-h inpwbuyphwunuGph
wJuhlwprrYwihu hwenpnwywunipjntultpp Gpynt wnwniywghwuGpnd UnyUl BU, uwnutph
UnUpwjhu nnuiyutph uygplwyubnned Pitx1-h EpuwynGuhwjh wywwnyGpubpp twpptn Gu. ndwjhu
wnwnLywghwnid Pitx7-p Gupwnyywd £ Epuynptuhwih (Jwunwwywanyl), huy pwungpwhwd gnptph
wnwnrywghwutpned® ny (L{win 1):

onyujhl Lungpuhud

-

Llwp 1. Sndwjhb (dwhu) W pwngpwhwd gptinh (wg) thawalutinh ntupp Jtunpuwy® thnpwht Yynndhg,
JEUuinpwy th2tnph wnywjniejwu jwd pwgwywyniejwl gnigunpniuny (gnygwnpywd Gu dnig
Juwuwnywny): “hdwgh' wuwnbphnp dwup yGplened £ dwunwyutpnud gnyg GU inpdwis uwndtpp®
Unupwjhu innwyutph uygpuwyutnnid Pitx1-h EpuwnGuhwih wywwytputnny:

Uk p, @b Lhwnbiyw) wunniifubphy npp Gud npalip Bb fhgn:

v A)  UdtLwju hwjwlwywunipjwdp® pwngpwhwd gptph wnwlg Jtuwnnwy thotiph
wnuwnLywghwubpp wnwewgt) Gu 5nyuwhu wynwniywghwubphg' Eyngnighwih
wnnyncupneu:

v' B) UnupwjhU thotipp 8nduwihl wnwniywghwutph wnwbdljwyubph dnn wpnn G swnwyt
npwtu ghwwnhsubnhg wwunwwudwu Uhong:
C) Ondwihu ynwnrywghwubph Pitx7-unjwnLin wnwudWwyutpp ntubu pwngpwhwd
onGnph wnwnrywghwubnh wnwudbjwuyutph $EUnnhwyhu Ldwl $EUNIhW:

v' D) Uwnuh Ynupwjhl nnuijubph uygpbwlutpnud Pitx7-h Epuwypbupuwh welwyncpniup/
pwgwyw)nieintup Ywpnn £ wnwowlw) geuh EpuwnptuhwU wpgwynpnn Euhwuubp
hwenpnwywuntpniuutpnh nwppGpnLejnLUUEphg:
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3wng 45: FuwysnLpjwl funnipeintup opguwuhquutnh wnwniywghwubph nhuwJdhywu yuwnwywnnn
hhduwpwn pwnuwnphsu E: Unnple pGpdws gpudhyp Uy 2ushu puyunn duGihnipjwl W
JwhwgnipjwU gnigwuhoutpp Gpyne tnwpptp tGuwyutpned (1w 1) wpunwhwjnned £ npuyGu
pLUwysnLpjwl funniejwl $nLuyghw:

I Il

\ Sty el

tdwhwugnipyuh

pudhh

ot inemih

2tshh
nayimn wmah gniguhyp

dwhwgnijemn i
=
=] - H :
v v v
A B C D
Mmynijughuy umniemneh Mpuniugugh e b

‘bzhl Py BB Ghwlipwy wlnpniifubphyg npp Gund npelip Bu Bhouwn:

v A) | inhwhu wWwwnlwunn tnbuwlutpp wydth utsd hwjwlwlwunieyudp pugquwiined Gu
wlubn Gnwlwyny:

B) Mnwniywghwh fuinniejniup A, B WL D YGwnEpnid hwuwnwwnnil E fuinnipnithg
Yuhugws Yapuwny:
v C) Unwudljwyltph Ynnwynidp wytiih 2w ogunwywn E, pwl Juwuwlywnp C funnipjwl
2tiuhg gwon wndtpnd:

D) | whwh wmGuwyutpp wyth 2wwn BU Gupwyw nyuswgdwl JunwlughUu Gpp
wnwnrywghwih pwbwyp fuhuwn bjwagned £, pwt I nhwh wGuwyutnnp:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers
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QID#: 26,511,811
Question 46 Generic Parent » Stuwlwl hwng 1 pt

3wng 46: Uunwunt YELuwwnwpwspp Upw Ynndhg wwaunwwuynn pwgwnhly tnwpwsdnepnil £
ntunLpultpp, ophtwy® ulntunp W gnigpuytpubphu wwhtine hwdwp: Ysbuwnwpwdpp tnwpptp £
wnuwhu wnnhpnyeh 2ngwuhg, pwuh np wnuwjhu wnhpnypp wju tnwpwsénynLtul £, npny YEunwuhu
2wndynid e inGnwithnfuyned E. wju Ywnnn £ hwwndt unyu inGuwyh hwpliwu wnwudbywyutph
YELUuwwnwnwsph hbun: YGLluwwnwpwédph swithp npn2ynwd £ upwlhg unwgwd ognuinh W dwhuuh
hwpwptpwygniejwdp wjuwtu, np wnwudbjwyubph unwgwd dwpnip 2whnyep wnwybjwagnuyuu E:
Uunnpl pendud gpnwdhyp gnyg £ wnwhu pb huswtbu BU thnfuyned cost and benefit Yuhuywd
nwpwdph swihhg:
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Ognmuun jwd Juwu

Swpudph suhp

A) Ognrwinh Ynpp fun2np tnwpwdputpnd gnigwpbpnud £ hwgbgywdnieintl nbuncpultph
uywndwl ywwndwnny :
B) Swpwbdph owywnhdwy swithp dwhuuh géh W 2whh Ynph hwundwl yeunned E:

C) bpp dwhuuh ghdp wuthnthnu E, huy nGunLpulpp uncn BuU, lwpwéph owwnhdwy swithp
JGdwunud E:

v D) bpp wynwniywghwih funnieniup deswnud E, huy UpnGuwlwihu wwjpwpp
nLdtnwuncd, wnwudWwyutph Unn tnwpwspwjunieintup Ywnpnn £ yspwliwg:

Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Tue 23rd Feb 2021
Last Modified: N/A
QID#: 26,519,595
Question 47 Generic Parent » Stuwlwl hwng 1 pt

Awng 47: Unihnwan dwnyh yGpwpunwnpnnuywu wpryntbwyGunnepjwl ypw thnaninnnubph
hwpwpGpwywU wgnbgnieinitup ghotpwihu W gbptywjhb dwdbphu nLuncdUwuhpbine hwdwp
Ywuwnwnyb E thnpé: ®ngnuinnnutpp s6U wpnn wygb)t) hwydwd swnhyubp: Lwpp gnyg E wnwihu
wnwewgwsd YEluuntuwy ubpdGph pwuwyp (Uhghl + utnwiunwipwu 26nnud) sthwydwd (1), dhwju
gh2tpp thwydwd (2), dhwju gbnbyp thwydwsd (3), W ghztipp, W gbptyp thwydws (4), wphGunwywl
thnonuindwl Gupwpyyws (5) swnhyubpnud:

https://www.classmarker.com/a//tests/test/?test_id=1674496 44/48



3/1/2021 ClassMarker - Manage Test

DR -3

@ & e

og ¥ | e

og ¢ |

OF &
:

‘

1 1
10000 20000 30000 40000 50000

8hptl  Yptip
Unwpugud utimitiph pubalp

ok p, Pb Ghwliywy whnpnifubphy npp uwd npelip BU Ahgun:

A) QhoGpwihu thn2nuinnnuGpp Uwwuwnned BU ubpdGph Unin 60%-h wnwpwgdwun:
v B) Wu dwnhyp wnnn £ hupbwthn2nunyb:

C) 8tpGYwjhu thnpninnnutinph UEpnpnLdp wyth UBs thnihnfuwlwunipjwup £ odindws,
puili gh2tpwjhl thn2ninnnubphup:

D) PLwywl wywydwuutpned thnznindwl hwdwn uwhdwUwthwynidubp sywl:

Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Tue 23rd Feb 2021
Last Modified: Tue 23rd Feb 2021
QID#: 26,519,619
Question 48 Generic Parent » Suwlwl hwng 1 pt

3wng 48: Unsdwyubpp Jwpnywug hhjwunnipyniultph thnfuwugnnutp Gu, W gpwdpwpubpnud
dwdwlwy wn dwdwuwy oginwagnpdyntd GU Uuhpwwnwuwwlubn® Upwug wnwniywghwubnp
Ywpgwdnntnt hwdwp: Unswyutph wynwnrywghwyned Ywl uh inynruncd ginudnn Gpyne witutn,
npnup wagnnwd BU pnLlwphuhywwnutnh hwunbw qguniunipjwu Ypw?® (s). qawyniu, (r), nhdwgyncu:
Yhdwgyniunieinitup (nhy nbgtuhy E: Unyntuwyp gnuyg £ innwihu pnitbwphdhywwnutnh
ogunuwagnndndhg wnwy (Uhusle 1990), oqunwgnpddwl pupwgpnid (1990-2000, gnug E nipdwd
ujwpny) W htwnn (2000-2015) tnwpptp gununhwtpny wnwuljwyuGph thnthnfunceniup:
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s/s s/t I/t
Ul 1990 222 3 0
1990 31 12 4
1995 26 35 41
2000 2 12 126
2005 74 64 44
2010 165 45 20
2015 210 12 1

Uk p, @b Lhwnbiyw) wlnnuifubphyg npp Gud npelp Bu Ahgn:

A) @nuwphuhywwnutbph ogunwagnpdniuhg wnwy nhdwgyniLuniejwl wibip pugwyuynd

En:

v' B) Rniuwphuhlwinltph oginwagnpddwl plupwgpnid plwlwl puinpnigyniup
LUwhiwwwwnynteintup wnwihu Ep nhdwgyniuncejwl wiGhu:

v C) Awdwlwlywl E, np nhdwgynit wnwldbjwllutnp (r/r) pncbwphdhlwnlbph

pwgwywjnLejwl nbwpncd YntuGuwl wyth gwsdp hwpdwpywénieiniu, pwl duwgwdp

(s/r, s/s):

D) 1990-hg 1995 pupwgpntd nhdwgyntuntejwl wibih hwwhuwywunteintup pwpdpwgb|
E wyGhu pwl 10 wugqw:

Question Type:
Randomize Answers: No

Grade style:

Date Added:

Last Modified: N/A

QID#: 26,519,660

Question 49

3wng 49: Ghuinbwywuutpp 50 twnh 2wnpnibwy 5 hEyunwp hnnuihu nwpwspnud yepwhuyt) Gu
UpgjnLtuh nGuwyubph wnwuadlUjwyubph phup: Snigunpywsd wwwnybpubpp Uepywywguncd Gu
nruntduwuhpywd wnwldbywyutph nndhbwlwnniejwl yupywuh2p Upwlg wnwwnniejwl
inGuwuynLuhg, wjl £ jnLpuipwiynin inbuwyh wnwudbjwyutnh phup: 3nLpwpwuynun thnpn 2ngwil
UGpywywgunid £ wnpdws inbuwyh wndtpp: fwadh wntp, np ‘wdtbwwnwuw nGuwyp Upywsd £

wnwohUu hwdwnph wnwy:

Multiple Response
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Stuutitph ymihwim ppul ntpohbgp

gk p, Phb Lhwliywy wlnpnifubphy npp Y npalip Bu fhgun:

A) SGuwyutph punhwuncp phyp nruncdbwuhpywéd dwdwlwlywhwwndwdutpned sh
thnhuytij:

B) A wnbuwyp dwdwlwyh pupwgpnid wunhdwlwpwn nnipu £ Untp Jintu inGuwyubphl:

C) UnwghU tnwpnud Junpywuh2h wnwehl Gpbp tnGuwyutpp Yuwagunwd G punhwuncp
wbwudwyutnh pUh 75%-n:

D) 50 vnwpyw pupwgpnid hwdwutnnieintup nGuwyutph dhole Uwqb E:

Question Type: Muiltiple Response

Randomize Answers: No

Grade style: Full points if all answers are correct

Date Added: Tue 23rd Feb 2021

Last Modified: N/A

QID#: 26,519,688

Question 50 Generic Parent » SGuwlwl hung

3wng 50: Pnyubph tGuwyutnh wnwwnnipjwl wagntgnipeintup hwdwyGgnientuuGph
YEuuwqwugqywdh wpunwnpnipywl ypw hwulywlwip Yuplnp £ YGuuwpwquwlnipjwu W
Eynhwdwlywpgh wwhwwudwl hwpgned: Ghinuwywultpp fununwdwsy inwnwspnid uinknst) Gu 72
thnpadwpwnwlwl nbnwdwu (ncpwpwbynipp 142 dwytnbuny) wlnpwhU pnyutiph tnwppkn
pwlwyutpny (1-hg 10 wmGuwyukn), npnup pw2hudwsd 6L wwinwhwywunptBu: Uhusle
pnLuwywuncejwl unbndnudp inbnh (nLuwhu W hnnwihb ywjdwuuGnp hwunyjwsuGpnud dwu Ehu:
Wu thnpép Bptip tnwnh 2wupnltuwytineg hGunn Upwup hwywptghu epgtunbjw pniuwywlncejniup,
npwtugh swithBU JnLpwpwuynip inEnwdwuh yepgbnljw yEuuwquugywdp: Mwunytnp gnyg E nwihu
JnLpwpwlynin lwnpwépwihu intnwdwuncd pnyutiph hwdwytgnipynctultinh winGuwyutnh
wnwwnLpnLtup (nkuwyutph phup) W yEbuwquiiqywsh snp pw2p (Ya/u2): Ghédp gnyg E tnwihu
qowjhu Ywhudwsdnipinilu, npp unwgyned £ ujwqugnyl pwnwyniuwihl ntgpbuhwihg:

https://www.classmarker.com/a//tests/test/?test_id=1674496

1 pt

47/48



3/1/2021 ClassMarker - Manage Test
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O

Uk p, @b Ghwnbiyw) wlnniifubphy npp fuod npalip Bb Ahgn:

v" A) Stuwllbph Uhgle Eyninghwlwl funptiph tnwipppnieinillbnp tnkuwlubph pwlwyh
W JGpgbinbjw YEuuwquugywsh dhole nhwywt jupudwu ywwnbwnltinhg dGyu E:

B) Uutuwuts ybpagbinbjw YGuuwqulgywd ntubgnn inGnwdwup ntup bwle inGuwyutph
wdGlwdtd pwlwyp:

C) Uhghuntu Ukl ibnwdwuntd Ybuwaquiiqyuwsdp 0.1 Ya/u2-ny wytiwglbine hwdwn
wUuhpwdtow E nLp Unp inGuwy:

v' D) Stuwylubph pwlwyh W Ytpgbntyw YEbuwqulgywsh dhple npuwywl Yuhudwl
wwwnbdwnutinhg dtyp nmbuwyutpny hwnpniun inGnuwdwutpned wytiih wypnnntyunhy
inbGuwyutph UGpwndwl JGé hwjwuwywuntpejnLUu E:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers
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